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I nstructions to the candidates:
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Answer Q.1Lor ©.2 andQ.3 or Q.4.

Neat diagrams musi-be drawn whenever necessary.
Figures'to the right indicates full marks.

Assurné stitabledata, if necessary and mention it clearly.
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What (s significant depth? How would you q,edde the depth of

explorétion? ' [5]
Explain with sketches Electrical Res st|V|ty I\/i“ethod [5]
Explain N value correctionand § gnlf) cqn&e [5]
V
QR N
Explain with sketch a typi¢al Cote Log'. Indicate core recovery and
RQD values for various rpck ty‘ffe%/l ayers. [9]

Explain percussion dildi ngv_?i'th itsadvantagesand disadvantages.  [5]
V

A sampling tube of 72 mry diameter and Imm thick. Itisfitted with cutting
edge. Theinside di amefer of cutting edge is flushed with samplingtube.
The cutting edge ls‘l 5 mm thick. Compute inside ¢learance;-outside
clearance and arga ratio. Comment on sample collected by.ttube.  [5]

Enlist the assumptions in Terzaghi’s beariTig-Capacity theory. State
Terzaghi’ s bearing capacity equation with (néaning.of each term. [9]

Writeanote on plateload test. Also explaniimitations of plateload test.[5]
Write anote on effect of water table on bearing capacity. [9]
OR

P.T.O.



Q4) @) Discussthe modes of bearing capaﬁ;g%) failure. [9]
X¢]
b) Describe Meyerhof’s bearing ??aci ty theory. [9]

c) Compute safe bearing %ﬁy of a continuous footing 1.8m wide and
located at adeptﬁ}.)j .2 mybelow ground level inasoil having unit weight
Y= 20 KN/ ZOI@?I’/m2 and g = 20° Assume factor of safety 3.

Terzaghi’ m&m&bacity factorsfor =200 areNc=17.7, N =7.4
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